
CRIMINOLOGY AND CORRECTIONAL ADMINISTRATION (SEMESTER VIII) 
 

1. In Ramamurthy vs. State of Karnataka the Supreme Court of India has given direction 

for. 
a.  Juvenile justice reforms 

b.  Prison reforms 

c.  Judicial reforms 

d. Police reforms 

1.                                                                . 

a.                    
b.                   
c.                  
d.               

2. Assertion (A): Enrico Ferri rejected the doctrine of free will, that is, it is not the criminal who 

wish to act. 

Reason (R): Ferri believed that the situation actually influences the criminal’s actions. He 

believed that crime was produced primarily by the type of society from which the criminal 

comes. 

a. (A) is correct, but (R) is wrong. 

b. Both (A) and (R) are correct. 

c. (A) is wrong, but (R) is correct. 

d.  Both (A) and (R) are wrong. 

2.        (ए): ए                                        ,                          
                    . 
     (  ):                                                                           . 
                                        :                                                
           . 

a. (ए)          ,       (  )           . 
b. (ए)     (  )                 . 

c. (ए)        ,       (  )          . 
d.  (ए)     (  )                  . 

  

3.  Victim compensation scheme has recently been made a part of the 

a. Indian Penal Code 

b. Code of criminal procedure 



c.  Indian Evidence Act 

d.  Juvenile Justice Act 

3.                                                        

a.                   
b.                       

c.                       
d.                 

  

4. The highest punishment given in India is 

a. Capital punishment 

b.  Life imprisonment 

c.  Amputation 

d.  Heavy fine 

4.                               

a.             
b.        

c.     

d.          

  

5. Which of the following statements are correct  

I. The physical aspect of crime is actus reus.  

II. The mental aspect of crime is mens rea.  

III. The motive is the desire to commit crime  

a.  I  is correct, II & III are incorrect 

b. I & II are correct but III is not correct  

c. only II & III 

d.  I, II & III are correct 

5.                                  ? 

I.                                       . 

II.                                  . 
III.                                    

a.  I          , II     III             



b. I   II                 III            
c.     II     III 

d. I, II     III            

  

6. According to various professional groups, violence in television, music, video games, and 

movies: 

a. may lead to increased levels of violent behavior among children.  

b. may lead to decreased levels of violent behavior among children. 

c. may lead to emotional sensitization toward violence in real life.  

d. may have no effect on levels of violent behavior among children 

6.                          ,          ,      ,                                 : 

a.                                      . 
b.                                        . 
c.                                                       . 
d.                                                          

  

7.Which theory of punishment sets an example for others?  

a. Preventive theory of punishment. 

b. Deterrent theory of punishment 

c. Reformative theory of punishment 

d. Retributive theory of punishment 

7.                                         ? 

a.                         . 

b.                      

c.                         

d.                       

  

8. Assertion (A): It is impossible to estimate the extent of white collar crime. 

Reason (R): The extent of white collar crime is unknown because much of it goes undetected and 

goes unreported. 

Codes: 

a. (A) is correct, but (R) is wrong. 

b.  Both (A) and (R) are correct. 



c. (A) is wrong, but (R) is correct. 

d. Both (A) and (R) are wrong. 

8.        ( ):                                                         . 
     (  ):                                                                     

                                  . 
     

a. (ए)          ,       (  )           . 
b.   (ए)     (  )                 . 

c. (ए)        ,       (  )          . 
d. (ए)     (  )                  . 

  

9. Which among the following is not a cyber crime? 

a. Embezzlement 

b. Phishing 

c.  Hacking 

d.  Cracking 

9.                                 ? 

a.       

b.         

c.        

d.        

  

10. Find the odd one in the series. 

a. Central Prison 

b. Probation 

c. Special home 

d.  Corporal punishment 

10.                   . 

a.                

b.        

c.        

d.              



 


